20MEE YEISHwY T $£29F HEBAOPHIY FMEFHEKRS

L—X TR 2R 3R 4R 5R 6 R 7R 8 R
#i8 : 2011/07/22~24 EiER 7A228 1A228 71A228 7A238 7H23H 7H23H 7A238 71A248
B ELFE - EF)—F A 25— REEZ 12:55:00 14:15:00 15:35:00 9:05:00 10:15:00 12:05:00 13:30:00 11:20:00
TopFinishBZ| 13:37:17 14:56:08 16:17:56 9:38:26 10:56:51 12:36:40 14:02:28 12:03:30
L—REEE K% H—H (PHE R TEEZI 13:52:17 15:11:08 16:32:56 9:53:26 11:11:51 12:51:40 14:17:28 12:18:30
JOTRXMEREE JId EFth (JSAFL—RF B X% — % 13:05:00 14:20:00 15:40:00 9:15:00 10:25:00 12:10:00 13:35:00 11:25:00
ek EfE Hih (B0B) TopFinishBZ| 13:45:39 15:01:15 16:21:20 9:45:09 11:01:32 12:42:41 14:07:20 12:08:47
BT 14:00:39 15:16:15 16:36:20 10:00:09 11:16:32 12:57:41 14:22:20 12:23:47
B [ 60° 60° 60° 20° 20° 40° 60° 200°
A & 6~8m 6~8m 8~10m 6~8m 6~8m 4m
IEfz | No Name SailNo | DIV Club Gender] F%& [ Ea | EIE B BR 25 | B b | B A | 55 | IE L S | EIEIER [ Bs | &5t | BE
1 25 EEEEFS 3174 ANEIAY LY STSa=7F M 8 6 2 4 9 9 1 1 1 1 1 1 1 1 0 1
2 50 WO = 3152 BEMREIY bN—N—Da=ZF73Av 557 M 9 1 2 1 1 1 1 1 1 6 6 3 3 3 3] 10 2
3 6 &= it 3188 MEmoa=—F7Iv 5T F 9 2 3 2 2 2 3 3 3 2 2 5 1 1 1 2 3
4 3 E i3 3175 2NEIAY RIS T F 7 1 4 4 4 4 4 4 6 6 6 4 4 4] 15 4
5 2 NIIE 1% 3177 ENEIA VRIS T F 9 5 5 5 3 F F 0 2 2 2 1 1 S 3 3 3] 15 5
6 12 MR BA 3219 BROTEVEE—ILTH5T 8 3 3 3 9 6 6 6 1 1 1 2 2 2 2 2 2 0 (1] 1] 16 6
7 51 hE RRE 3246 BEMREIY FN—N—Da=73v 557 N 8 2 2 2 ] 2 2 2 2 2 2 4 4 4 5 5 7 7 7 6 6 6 7
8 9 =i K 3200 MehAHTa=FIAVvEIS5TIVES—X 8 6 6 6 3 3 3 3 5 5 5 5 5 5 5 5 7 7 7 5 5 5 8
9 1 B _BX 3187 MEC2=7Iv o5 T 7 3 3 3 4 6 6 6 7 7 7 3 3 B 2 2 2] 9 9 9 5 5 5 9
0 |4 wy = 2902 BEE— T BEBRRZNSA=TFTHST 6 5 5 5 6 1 1 1 4 4 4 8 8 8 13 13 13 5 5 5 2 2 2 0
26 BB EF 3247 ANEIAY RYS5TDa=7F 8 2 2 2 2 2 2 8 8 8 3 3 3 4 4 4 2 2 2 6 6 6 1
7 t F7UF 3212 FRXIy BB =TFIAVEISD 6 9 9 9 3 3 3 6 6 6 5 5 5 9 9 9 1 1 1 9 9 9] 37 2
3 7 erkins Benjamin| 3136 AINEIY IS5 TSa=7T 7 8 8 8 4 5 5 5 6 6 6 7 7 7 7 7 7 7 7 7 40 3
4 195 BEE T2 3258 E:‘V’°}1:73‘y P M 6 3 3 3 5 5 5 7 7 7 3 3 3 4 4 4 3 3 3 12 12 12 43 4
5 |44 SEE KM 3231 KMC#ESa=-F7IAvrs5T 8 8 8 8 7 7 7 4 4 4 5 5 5 4 4 10 10 10 9 9 9] 43 5
6 (62 FHI B 3112 BESa=—F7IAVEHS5T F 7 6 6 6 9 9 9 8 8 8 9 9 9 6 6 6 10 10 10 4 4 4 8 8 ] 43 6
7 11 BN X8 3057 Efs/Rﬁ'Tz’J‘Et— Y 0557 F 8 7 7 7 11 1 11 4 4 4 10 10 10 9 9 9 8 8 8 2 2 2| 47 7
8 [18 it X 3213 EPB&EE!JFﬁEﬁ/J EPIY P 8 10 10 10 5 5 5 10 10 10 8 8 8 11 11 11 3 3 3 9 9 o] 47 8
9 [58 ER VS 3106 EIJI~’757' 9 7 7 7 11 11 11 5 5 5 6 6 6 9 9 9 8 8 8 7 7 70 47 9
0 [30 INRE R 3149 D=4 6 9 9 9 8 8 8 11 11 11 4 4 4 4 DPI 9 7 7 7] 48
8 EE EX 3166 > 8 4 4 4 11 11 11 7 7 7 11 11 11 6 DPI 11 8 8 8] 52
59 tf B 3109 57 9 4 4 4 13 13 13 8 8 8 8 8 8 9 9 9 13 13 13 4 4 ] 55
3 |61 K KEE 3047 R 37 F 7 9 9 9 10 10 10 3 3 3 10 10 10 8 15 15 15
4 124 BA # 3150 TINEIAV RIS aZ7 9 6 DP 7 7 7 9 9 9 6 6 6 15 15 15 8 8 8 11 11 11
5 43 =l itk 3127 KMCH#ES = 73 J 25T 9 4 4 4 12 2 12 12 1212 11 11 11 9 9 9 0 0 0 13 13 13 4 4 4
6 (20 Bt &% 3226 BEHEED 5T 8 0 0 0 17 7 17 16 16 16 7 7 7 10 10 10 12 12 12 10 10 10
7 153 #A EX 3134 BETRIY bN—N—Da=F7IAv o257 N 7 9 9 9 20 0 20 9 9 9 3 3 3 14 14 14 11 11 11
28 (60 [DE PN 3068 BESa=—F7IAV Y S5T 9 3 3 3 13 3 13 9 9 9 0 10 0 3 3 3 9 9 9
29 [ EH OEX 3176 ZOEIAY LY ST 8 7 7 7 8 8 8 3 13 3 5 5 5 5 5 5 4
30 |21 B EiE 2862 HB5HEEY 5T 5 0 0 0 10 10 10 2 22 2 6 6 6 2 2 2 5
3 14 FE S 2943 BRTEVEL—) 5057 F 6 4 4 4 15 15 15 6 6 6 6 6 6 0 0 0 6 6 6 7
3 42 =A@ I 2877 BEEE—Y T ERRZNSA=TFTHI ST F 5 5 5 5 15 15 15 8 8 8 7 7 7 21 1 1 6
33 (68 #|A T 3168 ZELETE—Y >7Tn’5§91:7 L— U0 F—4 1 6 6 6 24 24 24 25 25 25 2 9 9 9 1
34 169 HE B 3170 ZELRtE—Y IBESA=—TFL—V0F— L 7 8 8 8 2 2 2 3 5
35 (86 =l 3255 MY =——Y4 FJr.YC 8 8 8 8 0 ) ) 0 6 26 6 6 6 4 9
36 (94 RBE ¥ 3171 BCOTa=F7IAVRIS5T N 7 9 9 9 16 1 1 13 9 9 9 7 7 2 1
37 (32 HHF MK 3020 ANEIAVYRISTDa=7F 5 21 21 21 5 5 7 0
38 [19 % 3022 FACE A 6 9 0 0 0 D ) 4 3
39 (22 a3 3238 55[‘%555*7 57 6 3 15 1 7 9
40 [45 Bt &HiE 3184 KMCHBEDa=7I v+ 57T 8 7 12 2 8
4 28 BEE BX 3209 A ER) |~737/1:7 1 9 8 0
4 10 AR IEX 3201 75‘&75‘#’)/1—73 ybr9STIVES—X 7 4 7
43 166 == [bE 21797 Sa=F73IAVvkrH ST 6 3 1
44 146 FE HE 3228 = P 6 6
45 191 T8 A= 2842 6 1
46 63 wIE EE 2991 BES > 6 8
47 196 A i 3260 BCOTa=F7IAVLI5T M 6 4
48 13 [ 3 3114 BRTEVEE—U VT 5T F 7
49 14 AR EBX 3220 2NEIAY Y ST 8
50 [29 R R 3066 INEIAY rYS5TSa=7F 7
51 [N ER % 3169 ELMt—Y) o Beoa—rL—Y o FF—L 7
52 |55 IMEEEF.N 3021 BETRIY FN\—N—Ca=—F7aAvr55T M 6
53 [65 BK HEF 2856 BESa=—F7IAV Y S5T F 7
54 189 BE W& 3227 FEIYFELF—RXH5Ta=7 8
55 [31 &F WE 3093 INEIAVRISTDa=7TF 6
56 (49 & € 2891 WMEDS2=_T7E—V5057T 5
57 137 Perkins 1€ 3125 TINEIAVRISTDa=7F 4
58 |64 AAR & 3116 BWES2=F7IAv I 5T 6
59 [62 A AKX 2874 BEMEAY FN—N—S1=FAy 75T M 7
60 [70 28 KREE 2992 B tE—) T BETa =T L=V FF—L F 7
6 15 ik & 2982 BRGTEVEE—UTH5T 6
6 39 =E Rl 3000 ANEIAVRISTDa=7F 4 3 27 7
63 |54 ME BA 2964 HEMEIAY hN—N—a=F3aAv k557 N 6 50 DNF DNF
64 (38 PN 3147 ANEIAY R STSa=7F 4 28 28 28
65 [16 R 2614 BRGTEVEE—UTH5T 6 50 DNF DNF 50
66 90 A0 HBE 3096 FEIVIELE—XH5Ta=7 7 50 DNS DNS 50
67 |5 AR &X 2990 %0)%3 v 25T 6 P2l DNF DNF 50
68 |75 &F EBE#F 2893 ZELWHE—) VIR ESa=TFL— T F—4 5
69 [47 SEH BX 2914 KMC*ﬁE/:L EPIY S P 4
70 |77 e F 1619 FWEE—) Y ITBES1=FL=V VT F—A 5 50 DNF DNF
7 36 EF KEF 3100 ANBAY Y 5TVa=7F F 4 50 DNF DNF
7 33 B 2911 TINEIAVRISTDa=7F 5 34
73 167 B R 3030 BESa=—F7IAVrHS5T 6
74 1817 AH Eil 3117 HEY=—H%4 FJr.YC F 7
75 [93 B A 3130 FEIYFELF—XHS5TSa=7F 6
76 56 =N 3002 BEMREIY FN\—N—Da=F73v 557 N 5
77 173 HA K# 2993 ELR - IBESA—TFL—V0F— 4 7 3 1 1
78 (88 AB EEK 2180 MY =—4H41 FJr.YC 4 35 35 35 35 35 35 38 38 38 4 4 4 42 2
79 (34 BE #E 3157 ANEIAY R S5TDa=7F 5 37 37 37| DNF__ DNF 50 33 33 33 4 4 4 4 4
80 [23 mwR BE 2621 BEEEIS T 5 DNF __ DNF 50 31 31 31 37 37 37 33 33 33 45 5
8 98 Fith Ti5 3062 WEZWS2=F7IAVvrs5T F 7 40 40 40 NF__ DNF 50 39 39 39 46 46 46 48 8
8 97 A& EHE 3083 73_’@/:1. 73 yb957 F 5 DNF__ DNF 50] DNF __DNF 50 35 35 35 38 38 38 31 31 31
83 81 A Bz 2605 ZELETE—Y I /1 —FL—V0F—4 4 NF__ DNF 50 NF__ DNF 50 37 37 37 40 40 40 43 43 43
84 176 BEH B 818 I )] /'7T;m=: SaAaZFL—U0F—L 5 NF__ DNF 50] DNF __DNF 50 41 4 41 44 44 44 34 34 34
85 [72 ] 2892 ZELHtE—Y I BESA—TFL— U 0F— 4 7 DNF__ DNF 50[ DNF __ DNF 50] DNF __ DNF 50 33 33 33 39 39 39
86 |40 RER BEX 3120 ANEAY LY S5ITSa=7F 3 NF__ DNF 50 NF__ DNF 50[ DNF __DNF 50 47 47 47 35 35 35
87 (82 ERE & 2609 ZILBTE—1) ‘/'71)?%‘%:)1:7 L— V0 F— 4 4 DNF__ DNF 50] DNF __DNF 50 45 45 45 43 43 43 44 44 44
88 [85 % 799 ZELWHE—) VIR ESa =T L= TF—L4 4 NF__ DNF 50 NF__ DNF 50[ DNF F 50 39 39 39 44 44 44
89 |80 Bl EE 2894 FIWETE—Y) YT BESA=F L= TF— A 5 NF__ DNF 50] DNF __DNF 50[ DNF F 50 45 45 45 40 40 40
90 [78 He #& 896 ZELHtE—Y I BESA—TFL— U 0F— 4 5 38 38 38| DNF__ DNF 50] DNF __ DNF 50/ DNF __DNF 50 48 48 48
9 83 ARE BA 893 ZELWHE—) VIBESa =T L= T0F—4A 4 NF__ DNF 50 NF__ DNF 50[ DNF F 50 41 [ 41 47 47 47
9 79 BEA HIH 2608 ELHtE—Y I BESA—TFL—V0F— 4 F 5 DNF__ DNF 50] DNF __DNF 50] DNF __DNF 50 42 42 42 46 46 46
93 |48 FE ER 3124 KMCH#ES2=73 v k95T F 3 NC DNC 50 NC DNC 50[ DNC C 50] DNC DNC 50 9 39 39
94 |74 [T 2607 ELRtE—Y IBESA—TFL—V0F— L 5 NF__ DNF 50] DNF __DNF 50[ DNF F 50 48 48 48 42 42 42
95 |57 BHA HLDS 2887 BEMREIY FN—N—Da=F73Av 55T F 6 DNC _ DNC 50[ DNC DNC 50] DNC DNC 50/ DNC DNC 50 45 45 45
96 (92 INERT T 3154 FEIYVFELF—RXHS5TSa=7F 6 NC DNC 50 NC DNC 50[ DNC C 50] DNC NC 50 46 46 46
97 [35 AR 22 3259 INEIAY I S5TDa=7F 5 DNC _ DNC 50] DNC DNC 50/ DNC DNC 50/ DNC DNC 50 47 47 47
98 (84 KA EE 2596 ZELWHE—) VIRBESa=TFL— U TF—4 4 NF__ DNF 50 NF__ DNF 50[ DNF F 50] DNF NF 50] DNF__ DNF 50




